(a)

(b)

(c)

(d)

A y=03x=24=x=8

@) M. 3). c(0, -2)

MC = ,j(4-0)% + 3 - (-2))°

= I
=6.40

(i) A(8,0), C0.-2)

AC= .j8% = (-2)

=
-

(A1)

(Al)
(A1)
(A1)

(Al)

(A1)

(M1)

(Al)

(M1)

(A1)

[

]

]



(a) Gradient of DC =— % (a2 2
Note: Award (A1) for sign, (41) for % .
(b) No. The gradients are not equal. (ALNRIL) 2
(c) Gradient = 2.1 (Al)
12 6
J'=lr—c (A1)
]
31 (g)=c
]

18 =8+6c

10 =8¢

202

6 3

Gy =x+10 (M1)

x—6r=-10 (A1) 5
(d) 3x+3p=16

x—Gy=-10 (M1)

3x — 18y =30 (M1)

23y = 46

y=2 (A1)
r=2= T(22) A1) 4

Note: Award (42) for the arswers orfy.
[13]



(@)

(&)

(e)

(d
(e)

E(8.0) (ALNALY
Notes: Bracikets required If missing award (41)(40).
Accepix=8 y=0
Award (41) forx=§

}-_%,« —4 (M1)(M1)

Notes: (M) for the equation of the line seen.
(M) for substituting t.

}'=4—%f (AG)

Notes: Final line must be seen or previous (M)
marikcis lost.

1 1)
Area= — x! 4+4—_t |ut (MI)ATL)
2 2
Neote: (MI) for substititing in correct formula,
(A1) for correct substitution
(1] 1

1 R 2
—x| 8——f wif=—=| 8F—=1" | (AL}
2.0 2 24 2 )

= 4;—%;1 (AG)

Neote: Fingl line must be seen or previous (41) markis lost

41*—%1*1 =9.75 or any equivalent form. (A1)

M t=3ort=13 (ADRYALENG?)
Notes: Follow through from candidate’s
equation to part (d). Award (A0)(A1)(ft)
Jor (3, 0) and (13, 0

(i1} 7 must be avalue between 0 and 8 thenr=3 (R1}AD
Aceept B is berween O and E.
Do not aoward (ROWAT).

[12]



(d)

(f)

(a)

(b)

(c)

Gradient of CD = 1-(-D

=7 (AING2)
Note: Award (M) for correct substitution in gradient formuda
Gradient of AD = %
-2 = % =—lor % is negative reciprocal of -2
Hence AD is perpendicular for CD.
Note: Last line must be seen for the (MI) to be awarded.
y=-2x-13 (ATNENAL(E)
Note: Award (AI)(#) for their (a), (AI(f) for 3.
If part (a) incorrect award (4 1)(ft) for their y-intercept only if
Working is seert
OR
yv=1==2(x+2) (A1Nf)(AL)
OR
yrl==2(x+1) (AT)EENATL)
Note: Award (A1) for their (a), (41) for correct substitution
af paint.
2x +y=3 (AL)E)
Neote: The final (A1)(f) is_for their equation in the stated form.
E(-3, 3} (Acceptx=-3,y=3) (G2)
OR
Avward (MI) for solving the pair of simultaneous equations by
hand. (41)(#) for correct answer, (ff) from their (). IMIWALNE)
OR
Avward (MI) for having extended the lines in their own graph
seen drawn on answer paper. (4J) for correct answer. (MI1XAL)
;‘\r'ara_': jlfﬁtssr'rqg coordinate brackets receive (GI1){GO) or
{MIAD).
Distance between A and D = 447 + 22 (M1}
= 20 OR2+5 OR447 (35) (AING2)

Note: Award (M1) for correct substitution into the distance
Jormula, (41) for correct answer.

Area of ADE = ;@x@ (M1)

=10 (ALFNG2)
Follow through from (e).

[13]



(a)

(b)

(c)

(d

(a)

(b)

A

B
A®B
The complement of (4 ~ B)
n |
The complement of (4 ' B)
m |

AU(B~C)
A@B &
c

o u
(i) 2+3=5
(i) §+4+6+4=22

(A1)

(Al)

(A1)

(A1)

[4]

(A1) (C1)
(A1) (c1)
(A1) (€D

(A1) (€D
[4]



(a)

(b)

(a)
(b)

(c)

(d)

(e)

U »
R
(a9)
Nate: Award (A1) for rectangle labelled with U, (41) for R
placed correctly with respect to 5, (A1) for 5 placed correctly
with respect to P, {41) for R placed correctly with respect fo P.
(1)

Ja2)

(11)

(A2)
Note: Award (42) for correct shading in each ft from circle
placement in {a).
3 (A1)
For 5, 4, 7 (0) seen with no extra vales (A1)
16 (A1)}(G2)

They like (both) the Salseras (S) and they like the Bluers (B) [ALYATL)
Naote: Award (41) for “and”, (41) for the correct groups.

RABm &' (ATNAL
Note: Award (A1) for R ~ B, (41) for ~ &

i 21 +3x=33 (M1)

x=4 (A1NG2)

iy 17 (AL

8]

[10]



Note: Award (41) for each pair af correct entries in parts (@) and (c).
A list gf mombers with no set bracfets is acceptable.

(3) AUB={1.3478 9} (A1)AINAD) (C3)
(b) AnBnC={5} (Al) (C1)
() A4'={1.3478 9} (A1)
AnC=1{6.T} (A1)
(4~ C)uB={3.6.7.9) (A1}(A1) (C4)
8]
10.
(a) For example, 2, -3, efc [Al} (C1)
®)  For example, | not ?‘: (A1) (C1)
54 J
(c) For example, .2 . = (A1) (CD)
(d)
L._
For T (A1)
FrZ=R (A1)
Far QR (A1)
Accept Boas UL (C3)

(6]



10.

@ ®

(AZ)(A2)
(c) d
A B
C
(A2)(A2)
Nate: Award (A0), (40), (42) # (42) i if v and ~ are
consistently reversed
8]
12.
(a)
I
Y,
?G
[ALWALNAL
Note: Award (41) for rectemgle, (A1) for S drawn and named
{4d1) for G completely inside 5.
(b)  shading on diagram (AL
(c)  sports cars that are not green (A2}

Note: Award (41) for sports cars irtersecting with not green
Cars.

[6]



13.

(@

(b

(e

not shading C or shading 4 w B
correct shading

Identifving the correct 5 numbers 3,4 5.6, 9
27

() M=1{3.69 12 15, 18} bracke’s not required
() E ~M={3.9 15 21 27.33} (f) from (i).

(A1)
(A1) (C2)

(A1)
(A1) (C2)

(A1)
(AL)E) (C2)

[6]



